Catalyst 4900 Family Center Rack-Mount Kits
Installation Note

Revised: January 19, 2011

This installation note contains instructions on how to install the Catalyst 4900 family of switch chassis

in a telco-style rack using one of the five center rack-mount kits listed in Table 1.

Table 1 Catalyst 4900 Family Center Rack-Mount Kits

Kit Part Number

Chassis Supported

Description

WS-X4948-19CNTR=

Catalyst 4948, Catalyst 4948-10GE,
Cisco ME 4924-10GE,
Catalyst 4928-10GE

19-inch center rack-mount kit

WS-X4948-23CNTR=

Catalyst 4948, Catalyst 4948-10GE,
Cisco ME 4924-10GE,
Catalyst 4928-10GE

23-inch center rack-mount kit

WS-X4948E-19CNTR=

Catalyst 4948E, Catalyst 4948E-F

19-inch center rack-mount kit

WS-X4948E-23CNTR=

Catalyst 4948E, Catalyst 4948E-F

23-inch center rack-mount Kit

WS-X4900M-23CNTR=

Catalyst 4900M

23-inch center rack-mount kit

Note  Use these kits in place of the standard rack-mount brackets shipped with the chassis when center
rack-mounting the switch in a telco-style rack.

For a complete description of switch hardware installation, safety, and maintenance procedures, refer to
the appropriate hardware installation guide for your chassis. See the “Related Documentation” section

on page 19.

0 ' I l ' l l ' 0 Americas Headquarters:

Cisco Systems, Inc., 170 West Tasman Drive, San Jose, CA 95134-1706 USA

CISCO.



W Contents

Contents

This installation note is divided into the following topics:
e Warnings, page 2
e Tools Required, page 7
e Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR= Center Rack-Mount Kits, page 8

e Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits,
page 11

e Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit, page 15

e Related Documentation, page 19

Warnings

Throughout this publication, safety warnings appear in procedures that may harm you if performed
incorrectly. A warning symbol precedes each warning statement.

Statement 1071—Warning Definition

A

Warning  IMPORTANT SAFETY INSTRUCTIONS

This warning symbol means danger. You are in a situation that could cause bodily injury. Before you
work on any equipment, be aware of the hazards involved with electrical circuitry and be familiar
with standard practices for preventing accidents. Use the statement number provided at the end of
each warning to locate its translation in the translated safety warnings that accompanied this
device.

SAVE THESE INSTRUCTIONS

Waarschuwing BELANGRIJKE VEILIGHEIDSINSTRUCTIES

Dit waarschuwingssymbool betekent gevaar. U verkeert in een situatie die lichamelijk letsel kan
veroorzaken. Voordat u aan enige apparatuur gaat werken, dient u zich bewust te zijn van de bij
elektrische schakelingen betrokken risico's en dient u op de hoogte te zijn van de standaard
praktijken om ongelukken te voorkomen. Gebruik het nummer van de verklaring onderaan de
waarschuwing als u een vertaling van de waarschuwing die bij het apparaat wordt geleverd, wilt
raadplegen.

BEWAAR DEZE INSTRUCTIES

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
n. oL-23774-01 |



Warnings W

Varoitus ~ TARKEITA TURVALLISUUSOHJEITA

Tama varoitusmerkki merkitsee vaaraa. Tilanne voi aiheuttaa ruumiillisia vammoja. Ennen kuin
késittelet laitteistoa, huomioi sdhkopiirien kasittelemiseen liittyvat riskit ja tutustu
onnettomuuksien yleisiin ehkaisytapoihin. Turvallisuusvaroitusten kddnnokset loytyvit laitteen
mukana toimitettujen kdannettyjen turvallisuusvaroitusten joukosta varoitusten lopussa nikyvien
lausuntonumeroiden avulla.

SAILYTA NAMA OHJEET

Attention IMPORTANTES INFORMATIONS DE SECURITE

Ce symbole d'avertissement indique un danger. Vous vous trouvez dans une situation pouvant
entrainer des blessures ou des dommages corporels. Avant de travailler sur un équipement, soyez
conscient des dangers liés aux circuits électriques et familiarisez-vous avec les procédures
couramment utilisées pour éviter les accidents. Pour prendre connaissance des traductions des
avertissements figurant dans les consignes de sécurité traduites qui accompagnent cet appareil,
référez-vous au numéro de l'instruction situé a la fin de chaque avertissement.

CONSERVEZ CES INFORMATIONS

Warnung WICHTIGE SICHERHEITSHINWEISE

Dieses Warnsymbol bedeutet Gefahr. Sie befinden sich in einer Situation, die zu Verletzungen fiihren
kann. Machen Sie sich vor der Arbeit mit Geraten mit den Gefahren elektrischer Schaltungen und
den iiblichen Verfahren zur Vorbeugung vor Unfillen vertraut. Suchen Sie mit der am Ende jeder
Warnung angegebenen Anweisungsnummer nach der jeweiligen Ubersetzung in den iibersetzten
Sicherheitshinweisen, die zusammen mit diesem Gerat ausgeliefert wurden.

BEWAHREN SIE DIESE HINWEISE GUT AUF.

Avvertenza IMPORTANTI ISTRUZIONI SULLA SICUREZZA

Questo simbolo di avvertenza indica un pericolo. La situazione potrebbe causare infortuni alle
persone. Prima di intervenire su qualsiasi apparecchiatura, occorre essere al corrente dei pericoli
relativi ai circuiti elettrici e conoscere le procedure standard per la prevenzione di incidenti.
Utilizzare il numero di istruzione presente alla fine di ciascuna avvertenza per individuare le
traduzioni delle avvertenze riportate in questo documento.

CONSERVARE QUESTE ISTRUZIONI

Advarsel VIKTIGE SIKKERHETSINSTRUKSJONER

Dette advarselssymbolet betyr fare. Du er i en situasjon som kan fore til skade pa person. Far du
begynner a arbeide med noe av utstyret, ma du veere oppmerksom pa farene forbundet med
elektriske kretser, og kjenne til standardprosedyrer for a forhindre ulykker. Bruk nummeret i slutten
av hver advarsel for a finne oversettelsen i de oversatte sikkerhetsadvarslene som fulgte med denne
enheten.

TA VARE PA DISSE INSTRUKSJONENE

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
[ oL-23774-01 .n



W Warnings

Aviso

jAdvertencia!

Varning!

Figyelem

MpepynpexxpeHve

INSTRUCOES IMPORTANTES DE SEGURANCA

Este simholo de aviso significa perigo. Vocé estda em uma situacéo que podera ser causadora de
lesdes corporais. Antes de iniciar a utilizacao de qualquer equipamento, tenha conhecimento dos
perigos envolvidos no manuseio de circuitos elétricos e familiarize-se com as praticas habituais de
prevencao de acidentes. Utilize o nimero da instrucao fornecido ao final de cada aviso para
localizar sua traducao nos avisos de seguranca traduzidos que acompanham este dispositivo.

GUARDE ESTAS INSTRUCOES

INSTRUCCIONES IMPORTANTES DE SEGURIDAD

Este simbolo de aviso indica peligro. Existe riesgo para su integridad fisica. Antes de manipular
cualquier equipo, considere los riesgos de la corriente eléctrica y familiaricese con los
procedimientos estandar de prevencion de accidentes. Al final de cada advertencia encontrara el
nimero que le ayudara a encontrar el texto traducido en el apartado de traducciones que acompaiia
a este dispositivo.

GUARDE ESTAS INSTRUCCIONES

VIKTIGA SAKERHETSANVISNINGAR

Denna varningssignal signalerar fara. Du befinner dig i en situation som kan leda till personskada.
Innan du utfor arbete pa nagon utrustning maste du vara medveten om farorna med elkretsar och
kénna till vanliga forfaranden for att forebygga olyckor. Anvand det nummer som finns i slutet av
varje varning for att hitta dess oversattning i de oversatta sikerhetsvarningar som medfoljer denna
anordning.

SPARA DESSA ANVISNINGAR

FONTOS BIZTONSAGI ELOIRASOK

Ez a figyelmezeto jel veszélyre utal. Sérilésveszélyt rejto helyzetben van. Mielott
barmely berendezésen munkat végezte, legyen figyelemmel az elektromos aramkorék
okozta kockazatokra, és ismerkedjen meg a szokasos balesetvédelmi eljarasokkal.

A kiadvanyban szereplo figyelmeztetések forditasa a késziilékhez mellékelt biztonsagi
figyelmeztetések kozétt talalhatd; a forditas az egyes figyelmeztetések végén lathaté
szam alapjan keresheto meg.

ORIZZE MEG EZEKET AZ UTASITASOKAT!

BAXXHbIE MHCTPYKLIUX MO COBIMIOAEHNIO TEXHUKU BESOMNACHOCTHU

ATOoT cMMBON NpepynpexaeHns 0603HavYaeT onacHoCcTb. To eCTb MMeeT MecTo CUTyauus, B
KOTOPOW criegyeT onacartbCs TenecHbIX noBpexaeHui. Mepea akcnnyaTtaumein o6opyaoBaHus
BbISICHUTE, KAKMM OMACHOCTSIM MOXeT NoABepraTbCcA Nonb3oBaTesb NPy UCMONb30BaHUN
3MeKTPUYECKUX Lienei, U 03HAaKOMbLTECH C NpaBuramMu TeXHUKU 6e3onacHoOCTY Anis
npeAoTBpalLeHUsi BO3MOXHbIX HECYACTHLIX crlyyaeB. Bocnonb3ayiitecb HoMepoM 3asiBNeHus,
npuBeAeHHbIM B KOHLIE KaXAoro npeaynpexaeHusl, YTo6bl HANTU ero NnepeBeAeHHbIN BapuaHT
B NepeBoAe npeaynpexaeHuin no 6esonacHoCcTu, NpunaraemMom K 4aHHOMY YCTPOMWCTBY.

COXPAHUTE 3TU UHCTPYKLIUN

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
n. 0L-23774-01



Warnings W

2L  SEMNREMIRS
HEEFERERRR. BEATARZHTEGENT/ENES. EEFERREFBEIEZN, DARDLE
REIFEBENER, HFAGKZREHLENAFENRET/ERERF. FIREENESERREMNERSIIRKE T
WENREMHEERRNEIECR.
RIRTFIXLE R 2415 R

L REFTOEELIEERE
[fElE] DEKRTYT, ABEREFHTH-O0FERTEINRBRINTVET, EEORYKRMEES
T5LEE. EREROBREISEEL. —BMASBHHLRICBEEL T ZEL, EH50XEERIE.
BIEFEDEESFHIZ, HEIZHB® Translated Safety Warnings] 2B LTS,
INLDFEBEZHRELTELTLEEIL,

Z9| =2 o™ X &
0l 21 JIS= |2 LIEtELICH ZHSX0F Al 1| 2AaS Loz £ U= ASE AN USLICH
XFt1|01| Mg 8o Mol MO 2o 2EE S 2 sXot) BEE XY 22 E =Kot At
£ YXoAAIL. 2t FN2 Ot 220 %‘E 2O HSE X6 0l X2 &N HME=
HAZ OIM FNIRUHA oY HAYRE AL,

O XIAI AtetE 2 2ot A2,
Aviso INSTRUCOES IMPORTANTES DE SEGURANGA

Este simbolo de aviso significa perigo. Vocé se encontra em uma situacao em que harisco de lesdes
corporais. Antes de trabalhar com qualquer equipamento, esteja ciente dos riscos que envolvem os
circuitos elétricos e familiarize-se com as praticas padrdo de prevencéo de acidentes. Use o
nimero da declaracao fornecido ao final de cada aviso para localizar sua traducao nos avisos de
seguranca traduzidos que acompanham o dispositivo.

GUARDE ESTAS INSTRUCOES

Advarsel VIGTIGE SIKKERHEDSANVISNINGER

Dette advarselssymbol betyder fare. Du befinder dig i en situation med risiko for
legemesbheskadigelse. Far du begynder arbejde pa udstyr, skal du veere opmaerksom pa de
involverede risici, der er ved elektriske kredsleb, og du skal seette dig ind i standardprocedurer til
undgaelse af ulykker. Brug erklaeringsnummeret efter hver advarsel for at finde overszettelsen i de
oversatte advarsler, der fulgte med denne enhed.

GEM DISSE ANVISNINGER

BEEE Aolad! le¥ Cifalds !
(Jaadl £y 8 Olabio¥ (12 palll) die iy B (5150 (2 darlghe ST iy 1009 - plade 3909 1D i) jay Lidiga

Pl Erlga g1 ¢ 589 (193 A slimlt Al Clepa Wl ele ol (59 Al S Cilackald (13 a1 jlalie 5 i

3l o A 1 Aa S GLa¥1 il (Jn13 il )3 (1S ol paltod IS 551 (B 392581 Gl 08

SIaLE ¥ olue Ly o3

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
[ oL-23774-01 .“



W Warnings

Upozorenje

Upozornéni

Mpocidotroinon

NINTR

Opomena

VAZNE SIGURNOSNE NAPOMENE

Ovaj simbol upozorenja predstavlja opasnost. Nalazite se u situaciji koja moze prouzrogiti
tjelesne ozljede. Prije rada s bilo kojim uredajem, morate razumjeti opasnosti vezane uz
elektriéne sklopove, te biti upoznati sa standardnim na¢inima izbjegavanja nesrec¢a. U
prevedenim sigurnosnim upozorenjima, prilozenima uz uredaj, mozete prema broju koji se
nalazi uz pojedino upozorenje pronaéi i njegov prijevod.

SACUVAJTE OVE UPUTE

DULEZITE BEZPECNOSTNI POKYNY

Tento upozornujici symbol oznaéuje nebezpedéi. Jste v situaci, ktera by mohla zpusobit
nebezpeci urazu. Pfed praci na jakémkoliv vybaveni si uvédomte nebezpeci souvisejici

s elektrickymi obvody a seznamte se se standardnimi opatfenimi pro pfedchazeni uraziim.
Podle ¢&isla na konci kazdého upozornéni vyhledejte jeho pfeklad v prelozenych
bezpeénostnich upozornénich, ktera jsou pfilozena k zafizeni.

USCHOVEJTE TYTO POKYNY

ZHMANTIKEX OAHIIEXZ AXPANEIAZ

AuTté 10 TTpoEIdOTTOINTIKO OUMBOAO onuaivel Kivduvo. BpiokeaTe o€ KATAGTACTN TTOU PTTOPEI va
TTPpoKaAéTEl TpaupaTIouO. IMpiv EpyacTeiTe € OTTOI0ONATIOTE ECOTTAIOUO, Va £XETE UTTOWN OAG TOUG
KIvdUvoug TTou OXeTiCovTal Je Ta NAEKTPIKA KUKAWUATA Kal va £XETE €E0IKEIWBEI Pe TIG OUVABEIG
TIPAKTIKEG YIO TNV ATTOQUYH aTUXNHATWY. XpNOIYOTTOINCTE ToV apiBud dAwonNg TTou TTAPEXETAI OTO
TENOG KABe TTpoEIdOTTOINCNG, VIO VA EVTOTTIOETE TN METAPPAOCT TNG OTIG HETAPPATHUEVES
TTPOEIBOTTIOINCEIS AOQAAEIOG TTOU OUVOBEUOUV TN CUOKEUN).

OYNASTE AYTEX TIZ OAHIEX

BAXXHW BE3SBEHOCHW HAMATCTBUJA

CumbonoT 3a npegynpenyBane 3Hadm onacHocT. Ce HaoraTte BO cuTyauuja LUTO MOXe Aa
npeam3Buka TenecHu nospeau. MNpep aa pabotute co onpemara, buaete CBECHU 3a PU3MKOT LUTO
MOCTOM Kaj eneKkTpuyHUTE Kona u Tpeba Aa ru no3HaBaTe cTaHO4ap4HUTE NOCTanku 3a cnpevyBake Ha
HecpekHu cnydaun. MckopucTeTe ro 6pojoT Ha nsjaBaTta LWITO Ce Haora Ha KpajoT Ha cekoe
npegynpenysBare 3a Aa ro HajaeTe HEroBUOT NepuopA, Bo npeeeaeHute 6e3benHoCHU
npeaynpenysarsa LUTO Ce UcnopavaHn co ypeaoT.

YYBAJTE ' OBME HAMATCTBUJA

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
“. 0L-23774-01



Tools Required

Ostrzezenie ~ WAZNE INSTRUKCJE DOTYCZACE BEZPIECZENSTWA

Ten symbol ostrzezenia oznacza niebezpieczenstwo. Zachodzi sytuacja, ktéra moze
powodowacé obrazenia ciata. Przed przystgpieniem do prac przy urzadzeniach nalezy
zapozna¢ si¢ z zagrozeniami zwigzanymi z uktadami elektrycznymi oraz ze standardowymi
$rodkami zapobiegania wypadkom. Na koricu kazdego ostrzezenia podano numer, na
podstawie ktérego mozna odszukaé ttumaczenie tego ostrzezenia w dotgczonym do
urzadzenia dokumencie z ttumaczeniami ostrzezen.

NINIEJSZE INSTRUKCJE NALEZY ZACHOWAC

Upozornenie DOLEZITE BEZPECNOSTNE POKYNY

Tento varovny symbol oznacuje nebezpecenstvo. Nachadzate sa v
situacii s nebezpecenstvom urazu. Pred pracou na akomkolvek vybaveni
si uvedomte nebezpeéenstvo suvisiace s elektrickymi obvodmi a
oboznamte sa so Standardnymi opatreniami na predchadzanie urazom.
Podla ¢isla na konci kazdého upozornenia vyhladajte jeho preklad v
prelozenych bezpeénostnych upozorneniach, ktoré su prilozené k
zariadeniu.

USCHOVAJTE SITENTO NAVOD

Opozorilo POMEMBNI VARNOSTNI NAPOTKI

Ta opozorilni simbol pomeni nevarnost. Nahajate se v situaciji, kjer lahko pride do telesnih
poskodb. Preden pri¢nete z delom na napravi, se morate zavedati nevarnosti udara
elektriénega toka, ter tudi poznati preventivne ukrepe za preprecevanje taksnih nevarnosti.
Uporabite obrazlozitveno Stevilko na koncu posameznega opozorila, da najdete opis
nevarnosti v prilozenem varnostnem priro¢niku.

SHRANITE TE NAPOTKE!

gk
of

EERMETR

WEEFRRERER, RTARERASSE. EREMRERN, FEOEBRERER, TREEREN
AR, BRLUERERESENBMRE SHAKEMM R MEEZXPRIEE.
ARREREIET

Tools Required

You need the following tools to install the center rack-mount kits on the chassis and to mount the chassis
in the equipment rack:

e No. 2 Phillips screwdriver
e No. 1 Phillips screwdriver
e Level

e Tape measure

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
[ oL-23774-01 .n



W Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR= Center Rack-Mount Kits

Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR=

Center Rack-Mount Kits

The WS-X4948-19CNTR= center rack-mount kit for 19-inch equipment racks and the
WS-X4948-23CNTR= center rack-mount kit for 23-inch equipment racks can be installed only on the

following four chassis:

e (Catalyst 4948 switch

e Catalyst 4948-10GE switch
e Catalyst 4928-10GE switch

¢ Cisco ME 4924-10GE switch

A

Caution  The center rack-mount brackets shipped in these two center rack-mount kits must be installed on the
switch chassis in the forward direction only. If you install them backwards on the chassis, the airflow
through the chassis is blocked, which will damage the switch.

Center Rack-Mount Kit Contents

Table 2 lists the contents of the two center rack-mount Kkits.

Table 2 WS-X4948-19CNTR= and WS-X4948-23CNTR= Kit Contents

Kit

Contents

WS-X4948-19CNTR=

One 19-inch left-side center rack-mount bracket
(stamped L)

One 19-inch right-side center rack-mount bracket
(stamped R)

Four 10-32 x 0.75-inch screws
Four 12-24 x 0.75-inch screws
Eight M4 x 0.7 x 7-mm screws

WS-X4948-23CNTR=

One 23-inch left-side center rack-mount bracket
(stamped L)

One 23-inch right-side center rack-mount bracket
(stamped R)

Four 10-32 x 0.75-inch screws
Four 12-24 x 0.75-inch screws
Eight M4 x 0.7 x 7-mm screws

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
n. 0L-23774-01



Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR= Center Rack-Mount Kits 1l

Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR=Center
Rack-Mount Kit

Step 1
Step 2

Step 3

Step 4

Step 5

Step 6
Step 7

Step 8

Step 9

To install either the 19-inch or the 23-inch center rack-mount kit on the appropriate switch, follow these
steps:

Place the switch chassis on an antistatic work surface.

If the standard rack-mount brackets are attached to the chassis, you need to remove them by loosening
and removing the eight M4 screws (four on each side) that secure the brackets to the chassis sides. (See
Figure 1.) Set the screws and the brackets aside.

Figure 1 Removing the Standard Rack-Mount Brackets from the Chassis

113144

@) - 227227277
Y Yy
Go- - ,.:':8 GGGDD% %

Verify that you have the correct center rack-mount kit for your chassis and for the equipment rack size
(either 19-inch or 23-inch).

Open your center rack-mount kit and inventory the contents. See Table 2 for the kit contents and
quantities.

Position the left-side bracket (stamped L) against the left side of the chassis with the bracket’s four
mounting holes aligned with the holes in the chassis as shown in Figure 2.

Secure the bracket in place with four M4 mounting screws.

Repeat step 5 and step 6 for the right-side bracket (stamped R).

Figure 2 Installing the Center Rack-Mount Brackets on the Chassis

’////////'////1/////1/////////7////// T 7,

:g //////J/[/[///////////[7////7///////////////////////[/4/, PO catalyst 2945

E AW --=-<-5 «®
,*0 FD EA P L, VIA J L, JE ] E ] D@DDDGD@ ||E I J __Za_/.__m@

208733

Have one person carefully lift and position the chassis in the equipment rack so that the center
rack-mount bracket ears are in contact with the rack posts. (See Figure 3.)

~

Note  Use a tape measure or level to ensure that the chassis is positioned level in the equipment rack
before you install the mounting screws.

Adjust the chassis up or down in the rack until two screw holes in each center rack-mount bracket ear
are aligned with mounting holes in the equipment rack post.

[ oL-23774-01

Catalyst 4900 Family Center Rack-Mount Kits Installation Note g



W Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR= Center Rack-Mount Kits

Step10 While one person holds the chassis in place, secure the chassis to the equipment rack posts with either
the four 10-32 x 3/4-inch or the four 12-24 x 3/4-inch Phillips-head machine screws (two on each side)
that are supplied in the accessory Kkit.

~

Note If the equipment rack post-mounting holes are not threaded, you need to obtain the proper size
cage-nuts to secure the center rack-mount mounting screws in place.

Figure 3 Attaching the Chassis to the Equipment Rack

Pc 66 66 6o 60)

Y

‘Lﬂo OO0 0O 00 OGA

N\

N
S

2222, PO cavalystasas | B2

&& Z 222222222 22222277 7% 227227,
gE Oy aaa O

o0 ©0O o\ro

208734

[

Step 11 If you want to install the optional cable guide bracket, position the cable guide against either the left- or
right-side threaded hole in the center rack-mount bracket as shown in Figure 4. Secure the cable guide
bracket in place with one M4 screw.

Note  For complete chassis installation procedures and additional product information, refer to the installation
guide for your chassis.

Figure 4 Attaching the Optional Cable Guide Bracket to the Center Rack-Mount Bracket

-
0 <
: ¥
8 8
g 0
87§
Ol
8O
- &&&ﬁ A 22777777777, TN, Catalyst 445 0@
Y =
- ‘-‘V‘O‘GD@A@DDFD I %%%%%%%% E[ T2
et Z x Tvevevs g 0
s, N n
- <
o 8 %
L N

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
“. oL-23774-01 |



Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits 1l

Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR=
Center Rack-Mount Kits

Note

The WS-X4948E-19CNTR= center rack-mount kit for 19-inch equipment racks and the
WS-X4948E-23CNTR= center rack-mount kit for 23-inch equipment racks can be installed only on the
Catalyst 4948E or the Catalyst 4948E-F switch chassis.

The Catalyst 4948E and the Catalyst 4948E-F differ in the direction of the airflow through the chassis.
The Catalyst 4948E switch chassis has front to back airflow; the Catalyst 4948E-F switch chassis has
back to front airflow.

Center Rack-Mount Kit Contents

Table 3 lists the contents of the two Catalyst 4948E and Catalyst 4948E-F center rack-mount Kkits.

Table 3 WS-X4948E-19CNTR= and WS-X4948E-23CNTR= Kit Contents
Kit Contents
WS-X4948E-19CNTR= e Two 19-inch center rack-mount brackets

e Four 10-32 x 0.75-inch screws
e Four 12-24 x 0.75-inch screws
e FEight M4 x 0.7 x 7-mm screws
WS-X4948E-23CNTR= e Two 23-inch center rack-mount brackets
e Four 10-32 x 0.75-inch screws
e Four 12-24 x 0.75-inch screws

e Eight M4 x 0.7 x 7-mm screws

Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR=Center
Rack-Mount Kit

Step 1
Step 2

To install either the 19-inch or the 23-inch center rack-mount kit on the Catalyst 4948E or the
Catalyst 4948E-F chassis, follow these steps:

Place the switch chassis on an antistatic work surface.

If the standard rack-mount brackets are attached to the chassis, you need to remove them by loosening
and removing the eight M4 screws (four on each side) that secure the brackets to the chassis sides. (See
Figure 5.) Set the screws and the brackets aside.

~

Note The standard rack-mount brackets can be installed either on the front of the chassis or the rear
of the chassis. In either case, they must be removed before installing the center rack-mount
brackets.

[ oL-23774-01

Catalyst 4900 Family Center Rack-Mount Kits Installation Note g



I Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits

Figure 5 Removing the Standard Rack-Mount Brackets

207508

1 |M4 screws (4 screws per bracket) ‘Z ‘Standard 19-inch rack-mount bracket

Step3  Verify that you have the correct center rack-mount kit for your chassis and for the equipment rack size.

Step4  Open your center rack-mount kit and inventory the contents. See Table 3 for the kit contents and
quantities.

Step5  Determine how you want to position the chassis in the equipment rack. The center rack-mount brackets
are reversible; they can be installed either on the front sides of the chassis or on the rear sides of the
chassis.

Step6  Position one of the brackets against the side of the chassis with the bracket’s four mounting holes aligned
with the holes in the chassis as shown in Figure 6.

Step7  Secure the bracket in place with four M4 mounting screws.

Step8  Repeat step 6 and step 7 for the second bracket.

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
n. oL-23774-01 |



Step 9

Step 10

Step 11

Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits 1l

Figure 6 Installing the Center Rack-Mount Brackets on the Chassis

1 ‘M4 screws (4 screws per bracket) ‘Z ‘Center rack-mount bracket

Have one person carefully lift and position the chassis in the equipment rack so that the center
rack-mount bracket ears are in contact with the rack posts.

~

Note  Use a tape measure or level to ensure that the chassis is positioned level in the equipment rack
before you install the mounting screws.

Adjust the chassis up or down in the rack until two screw holes in each center rack-mount bracket ear
are aligned with mounting holes in the equipment rack post.

While one person holds the chassis in place, secure the chassis to the equipment rack posts with either
the four 10-32 x 3/4-inch or the four 12-24 x 3/4-inch Phillips-head machine screws (two on each side).
The screws are supplied in the accessory kit. (See Figure 7.)

~

Note  If the equipment rack post-mounting holes are not threaded, you need to obtain the proper size
cage-nuts to secure the center rack-mount mounting screws in place.

[ oL-23774-01

Catalyst 4900 Family Center Rack-Mount Kits Installation Note g



I Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits

Figure 7 Mounting the Chassis in the Equipment Rack

1 |Equipment rack post ‘Z ‘ 12-24 or 10-32 screws (2 per bracket)

Step12 If you want to install the optional cable guide bracket, position the bracket against either the left- or
right-side threaded hole in the center rack-mount bracket as shown in Figure 8. Secure the cable guide
bracket in place with one M4 screw.

Note  For complete chassis installation procedures and additional product information, refer to the installation
guide for your chassis.

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
m. oL-23774-01 |



Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit 1l

Figure 8 Installing the Optional Cable Guide to the Center Rack-Mount Bracket

&)
/Oooooov?

Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit

The WS-X4900M-23CNTR= center rack-mount kit for 23-inch equipment racks can be installed only
on the Catalyst 4900M switch chassis.

~

Note  The Catalyst 4900M center rack-mount brackets can be installed on the chassis in the forward direction
only.

Center Rack-Mount Kit Contents

Table 4 lists the contents of the Catalyst 4900M center rack-mount kit.

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
[ oL-23774-01 .“



I Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit

Table 4 WS-X4900M-23CNTR= Kit Contents

Kit Contents

WS-X4900M-23CNTR= e One left-side 23-inch center rack-mount bracket
(stamped L)

* One right-side 23-inch center rack-mount bracket
(stamped R)

e Four 10-32 x 0.75-inch screws
e Four 12-24 x 0.75-inch screws

e Twelve M4 x 0.7 x 7-mm screws

Installing the WS-X4900M-23CNTR=Center Rack-Mount Kit

To install the 23-inch center rack-mount kit on the Catalyst 4900M chassis, perform the following steps:

Step 1 Place the switch chassis on an antistatic work surface.

Step2  If necessary, remove the standard rack-mount brackets from the chassis by loosening and removing the
12 M4 screws (six on each side) that secure the brackets to the chassis sides. (See Figure 9.) Set the
screws and the brackets aside.

Figure 9 Removing the Standard Rack-Mount Brackets from the Catalyst 4900M Chassis

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
“. oL-23774-01 |



Step 3
Step 4

Step 5

Step 6
Step 7

Step 8

Step 9

Step 10

Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit 1l

Verify that you have the correct center rack-mount kit for your chassis.

Open your center rack-mount kit and inventory the contents. See Table 4 for the kit contents and
quantities.

Position the left bracket (stamped L) against the left side of the chassis with the bracket’s six mounting
holes aligned with the mounting holes in the chassis as shown in Figure 10.

Secure the bracket in place with six M4 mounting screws.

Repeat step 5 and step 6 for the right-side bracket (stamped R).

Figure 10 Installing the Center Rack-Mount Brackets on the Chassis

& &

208739

Have one person carefully lift and position the chassis in the equipment rack so that the center
rack-mount bracket ears are in contact with the rack posts.

a~

Note  Use a tape measure or level to ensure that the chassis is installed level in the equipment rack.

Adjust the chassis up or down in the rack until two screw holes in each center rack-mount bracket ear
are aligned with mounting holes in the equipment rack post.

While one person holds the chassis in place, secure the chassis to the equipment rack posts with either
the four 10-32 x 3/4-inch or the four 12-24 x 3/4-inch Phillips-head machine screws (two on each side)
that are supplied in the accessory kit. (See Figure 11.)

~

Note  If the equipment rack post mounting holes are not threaded, you need to obtain the proper size
cage-nuts to secure the center rack-mount mounting screws in place.

[ oL-23774-01

Catalyst 4900 Family Center Rack-Mount Kits Installation Note g



I Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit

Figure 11 Mounting the Catalyst 4900M Chassis in the Equipment Rack

) O O O O O,

I

Step 11 If you want to install the optional cable guide bracket, position the cable guide against the two threaded
holes in either the left- or right-side center rack-mount bracket as shown in Figure 12 and secure the
cable guide bracket in place with two M4 screws provided with the cable guide bracket.

Note  For complete chassis installation procedures and additional product information, refer to the installation
guide for your chassis.

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
“. oL-23774-01 |



Related Documentation 1l

Figure 12 Installing the Optional Cable Guide to the Center Rack-Mount Bracket

\’\@ooooo

S5
[eRoNoNoN)

208741

[eNoNe]

Related Documentation

Table 5 lists the publications that contain the complete Catalyst 4900 switch chassis installation

procedures.

Table 5 Catalyst 4900 Family Installation Guides

Chassis Publication

Catalyst 4948 Catalyst 4948 Installation Guide

Catalyst 4948 Catalyst 4900 Series Switch Installation Guide

Catalyst 4948-10GE
Catalyst 4928-10GE

Cisco ME 4924-10GE Cisco ME 4924-10GE Ethernet Switch Hardware
Installation Guide

Catalyst 4948E Catalyst 4948E and Catalyst 4948E-F Switch

Catalyst 4948E-F Installation Guide

Catalyst 4900M Cisco Catalyst 4900M Switch Installation Guide

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
[ oL-23774-01 .“


http://www.cisco.com/en/US/docs/switches/metro/me4924-10ge/hardware/installation/guide/hig.html
http://www.cisco.com/en/US/docs/switches/lan/catalyst4900/4948E/installation/guide/4948E_ins.html
http://www.cisco.com/en/US/docs/switches/lan/catalyst4900/4900M/installation/guide/4900Mod.html
http://www.cisco.com/en/US/docs/switches/lan/catalyst4900/4948/4948_in.html
http://www.cisco.com/en/US/docs/switches/lan/catalyst4900/installation/guide/4900.html

Il Related Documentation

This document is to be used in conjunction with the documents listed in the “Related Documentation” section.

Cisco and the Cisco Logo are trademarks of Cisco Systems, Inc. and/or its affiliates in the U.S. and other countries. A listing of Cisco's trademarks
can be found at www.cisco.com/go/trademarks. Third party trademarks mentioned are the property of their respective owners. The use of the word
partner does not imply a partnership relationship between Cisco and any other company. (1005R)

© 2011 Cisco Systems, Inc. All rights reserved.

% Printed in the USA on recycled paper containing 10% postconsumer waste.

Catalyst 4900 Family Center Rack-Mount Kits Installation Note
m. oL-23774-01 |


http://www.cisco.com/go/trademarks

	Catalyst 4900 Family Center Rack-Mount Kits Installation Note
	Contents
	Warnings
	Statement 1071-Warning Definition

	Tools Required
	Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR= Center Rack-Mount Kits
	Center Rack-Mount Kit Contents
	Installing the WS-X4948-19CNTR= or the WS-X4948-23CNTR=Center Rack-Mount Kit

	Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR= Center Rack-Mount Kits
	Center Rack-Mount Kit Contents
	Installing the WS-X4948E-19CNTR= or the WS-X4948E-23CNTR=Center Rack-Mount Kit

	Installing the WS-X4900M-23CNTR= Center Rack-Mount Kit
	Center Rack-Mount Kit Contents
	Installing the WS-X4900M-23CNTR=Center Rack-Mount Kit

	Related Documentation



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


